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General Instructions:

1. All questions are compulsory.

2. The question paper consists of 31 questions divided into four sections A, B, C and
D. Section-A comprises of 4 questions of 1 mark each; Section-B comprises of 6
questions of 2 marks each; Section-C comprises of 10 questions of 3 marks each and
Section-D comprises of 11 questions of 4 marks each.

3. There is no overall choice in this question paper.

4. Use of calculator is not permitted.

1 $CL37 / SECTION-A
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Question numbers 1 to 4 carry one mark each

]

1 3 | 1 || m, ZAOD=90° 41 ZODB=30° €| #1 AOAC @& AODB &7%q & ? afg &, ol fvw 1
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In the figures ! || m, ZAOD=90° and ZODB=30". Are AOAC and AODB similar? If yes, by

which criterion ?

A

)

“90G

30°
D

A
v}

// T# AABC *{- e & a1 H sin A;Bfaﬁam

In a triangle ABC, write sin 2+ B

in terms of angle C.

/ Il tan® + coth = 2§, A tan2d + cot2d FT TH F1d HIfSU |

If tan® + cotd = 2, then fihd the value of tan26 + cot20.

/ om Y ST H B me D e gD
Find the mean of first five prime numbers.

' G / SECTION-B
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Question numbers 5 to 10 carry two marks each.
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Find two numbers which on multiplication with /180 gives a rational number, Are these
numbers rational or irrational ?

/ k%mqﬁﬁﬁqﬁl)@@éxém-@é-t‘#ﬂ)&l’)"-néﬂéﬁ 2 :
y—x=6 _ _ (4%
3kx+2y=7 : C[P [ g '

For what value of k does the pair of equations given below has a unique solution ? @ .@ .

Y%
2%
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3kx+2y=7

)/ 3N & [|jm, T AOAC ~ AOBD 3f¢ AC=5cm, OA=3 cm 41 BD=2cm & § OBFI 79 3@ 2
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In the figure, I|m and AOAC ~ AOBD. If AC=5 cm, OA =3 cm and BD =2 ¢m, find OB.

D W B ol
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A ¢ © r
9 cos A& cot AT w9 ¥ fafau | ’ ' 2

Express cos A in terms of cot A.
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4000 |6000 |[8000 [10000 [ 12000 | 14000 [ 16000 | 18000
gE(sH) | @ E: < s} g q q g
6000 | 8000 | 10000 | 12000 | 14000 | 16000 | 18000 | 20000 Ub}
gfgai &l
. 21 43 72 230 |185 |110 |85 35 .
g _
O
T

Given below is the distribution of monthly salary of workers in a factory. Calculate the modal
salary. ' | '

Salary 4000 | 6000 [ 8000 10000 | 12000 | 14000 | 16000 | 18000
to to to to to to to to .
(in Rs.) 6000 | 8000 | 10000 | 12000 | 14000 | 16000 | 18000 | 20000 Cpo}
y”
Number of f’g
21 483 |72 [230 [185 |110 (8 |35 /.8
workers \
\ L
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Question numbers 11 to 20 carry three marks each.
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Pens are sold in pack of 8 and notepads are sold in pack of 12. Find the least number of pack
of each type that one should buy so that there are equal number of pen and notepads.

FEI plx)=2x —ax —4x +6x—2 T TG glx)=x —2 F W Ffg Wamﬁqmﬁﬁq 3
I aeRCaAU° Unapx - "l - h°D | s

Divide the polynomial p(x)= 2x 4x —4x +6x—2 by the polynomial g(x)= x —2 and find the
quotient and the remainder. Also verify the division algorithm.
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A man has certain notes of denomination ¥ 20 and ¥ 5 which amount to X 380. If the number of
notes of each kind are interchanged, they amount to ¥ 60 less than before. Find the number of

notes of each denomination.

y o e (58 "l A AR~ 52080 o e | | confemm il T 0 #1 ¥ & v o W 3
o | : ' _

Find a quadratic polynomial, the sum and product of whose zeroes are 6 and 9 respectively. Hence
find the zeroes.

@ TF Fg4S ABCD H ZA =90° 21 BC?=CD*+ DA” + AB* % | fig #ifs/¢ ZCDB =90° -3

If in a quadrilateral ABCD, ZA =90° and BC?=CD’+ DA*+ AB’, then prove that ZCDB=90°

J/ Tq4s ABCD # afg £A = ZD =90° @ fag &ifsg BD*— AC* = AB?~DC* . 3

In a quadrilateral ABCD, if ZA = /D =90°, then prove that BD*-AC*=AB*-DC?

1 TS HITT : _ 3
sin® @ + cos’ @ @ '
sin 8 + cos 8 v b

Simplify: i

sin® @ + cos® @
sin B + cos 0

@ af% 2sinA :cosA=5:6%, Tl cot A, cos A HT sin A 1 TH F1d FHIfT | ' 3
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If2sin A :cos A=5: 6 then find the value of cot A, cos A and sin A. ‘b’b 56
Q) =w X% w v wwmE ¥ wm, wEh w@ F fy 45 fak 'zmaajwﬁs@}?
U | &t e foenedf & srufeua w1 & et o1 e s sifsng) 9/9

HIfegd @ 9t fedl =1 | 04 |48 | 8-12 | 12-16 | 16-20 | 20-24 | . f?

¥ O ' =

- e
oA w H O 18 |3 é 2 0 1 !{

. >4
For the month of February, a class teacher of class IX has the following absentee record for .io?é
students. Find the mean number of days a student was absent.

Number of days of absent | 0-4 |48 | 812 |12-16 | 16-20 | 20-24 e 1S
Number of students 18 |3 |6 |2 |0 |1 5 ,U\(" 75
zc/qa;ﬁmaqﬁf,ammﬁﬁ?m,ﬁﬂ Jaddie 0¥ (Balglrgt ¢ »° N ‘%% T

YR (kg #) 45-50 [50-55 |55-60 |60-65 |65-70 [70-75 \S %/o

HAAGHI H E B&x |5 10 25 28 22 |10 ; %7,
qgAS WR A1 Hifey | N

. y o

In a school, weights of teachers were recorded as shown in the following distribution table :

Weight (in kg) 45-50 | 50-55 |55-60 |60-65 |[65-70 [70-75

Number of teachers | 5 10 25 28 22 10

Find modal weight.

* $CLZ / SECTION-D
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Question numbers 21 to 31 carry four marks each.
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HCFXLCM =31 § Qiédd roogrei)

I
|
; Find the HCF of 256 and 36 using Euclid’s Division Algorithm. Also find their LCM and
1 verify that HCF X LCM = product of the two numbers.

|
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Mrs. Kukreti wants to make a kitchen garden behind her house in a rectangular plot by using
the Bio-fertilizer. For this she has done fencing by a wire of 105 m around the three sides of
the plot and fourth side is covered by the wall of her house. The area of the plot is increased
by ,
| 50 square meters, if the length of the plot is decreased by 5 m and breadth of the plot is
| increased by 5 m. Find the dimensions of the plot.

What is the importance of Bio-Fertilizers over Chemical fertilizer ?

i 7 U - néxé diphedhx - w46 ' & ° N : 4
y=2(x—1)
4x +y =4
3 faigafi & fFrdwiw off fafey o @ 98 wand x-a1e au1 y-a1e1 &1 Fedt §1
Draw grabh of following pair of linear equations :
y=2(x—1)
4x + y=4a

Also write the coordinates of the points where these lines meets Xx-axis and y-axis.
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Find all the zeroes of x*—5x3 +x2 +15x — 12, if it is given that two of its zeroes are 1 and 4.

zs/mﬁiﬁPQRaﬂIQSTlﬁxmﬁ ANAKS KR 3R T ax e @h - - R\ gn4/7%
QRXQS=QPxQT &I “

p QLJc V) OH‘Q | -

Q R.=5 _ ll 6)L+\/\

In the figure PQR and QST are two right tria.n%les , Tight angled at R and T respectively. Prove
that QR x QS =QP x QT — 1O

2 Lo A= 513 +51L+‘51 L

T

2V w/;jsfl_fz
) + % HSA-12
)(

_c6x2 ~Hos
Q RS e b N

@h - rgh° ¢ u(@zg g@édﬁ-lb”néé_aaééxdalﬂé@iﬁE&ar@ll}fW fagall W ufosog 4
0 % e T Y i S, A 3= Ay u @ e F faenfer @ S €1

Prove “If a line is drawn parallel to one side of a triangle to intersect the other two sides in
distinct points, the other two sides are divided in the same ratio”.

/u/ fag HIforT : w/\y 4
. b C
sinA g sinA  _ Jl + cosA i JlﬂcosA e —
1 + cosA 1 — cosA 1 —cosA 1 + cosA . - »g
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Prove that ‘OU‘ \ |
B ot

’1 + cosA — CosA
= 2 cosecA
1+ cosA 1 cosA — cosA Jl + cosA @Cy \,

/%ﬁ:x — cosecA + cosA 3y = cosecA — COsA g, @lmmf\ﬁ\‘%o b4
2 x—¥Y . .
[x+j] +£ 2 ) Py . ( U

. v

|f x = cosecA + cosAandy = cosecA — cosA then prove Q J \'4‘ b
. (/\..r-\ = 2 2 /
l\’

XY 2 @ g%{,/

Tfﬁ:cotﬂ=§5% ?ﬁgﬁﬁﬁ@\.& e DQ sl ,\?dg)

é 4ltot6 — 5 sech —8cosec8 ‘Q \‘bg “Q ro f\u_? ‘;}/:: %
' g

Qe ¥ 4
5 95 tag + 5 cotd — 17 sind n/l?r* 0
& N
\Cff oty = E, evaluate : @ \k-‘) \7
8 N © * . .
4 cotd — 5 secd — 8 cosect _\{N L/’ O
oy 4 A % o S B
5 tan@ + 3 cot — 17 sinb s _ /\j\ o/ ©
Y, B/
A
h O
(@ @wtaﬁ,zmqﬁaﬁaamw,ﬁammammw%: 4
= (2 7) 3000- [3500- | 4000- | 4500- |[5000- | 5500-
A 3500 | 4000 | 4500 | 5000 | 5500 | 6000
qREd w1 E 2 | 24 60 x 26 32 \ y

Ife Suad ®eA &l Tga® < %w%.fhmaﬁauﬁﬁxawymaﬂﬁm

In a village, monthly expenditures of 200 families_are showh in the followmg frequency

26
q}ﬂb @ g (.9\ ’%__

\
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Expenditure 13000 |3500- [4000- |4500- |5000- | 5500-

(in®) 3500 (4000 [4500 5000 | ri500 | 6000 'b
A 0
Number  of .

24 60 x 26 32 y

A
e
4

families @
If mode of the distribution is ¥ 3800, find the missing frequencies x and Y. 57;
. .
; | 4\;
’/ﬁﬂéﬂﬁud’-n-wﬂiﬂmdﬁl a Calddii 00 37T ¥ § W S ewfu e ¥ . % P
- ¥, S (
O &1 (10 1|20 %130 =1 |40 7|50 |60 31|70 a1 |80 &1 | 90 =] 100 = ¥
sfuw | sifes /“‘\
S
Feroa e
S @l |77 |72 |65 |55 |43 |28 |16 |10 |8 0 Q{)'LG )
Gl ¥Q@es oo ] o SAMD o B §° 1158 530680 5l & @@ = /32\/
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Following table shows marks (out of 100) of students in a class test :

More tl\ldore M. More | More | More | More | More | More | More M.
than | TN | BO%€ |than |than |[than |than |than | than | than Sy
Marks or s equal (:; or or or or -or or |or or equ
al al al 1 ual 1 al al )
= R ol ol bl ol o e L
Number ) q :“
= 80 77 72 65 ]85 43 28 16 10 - |8 0 q,l
stude?::ts‘ _' ' & S
Draw ‘more than type’ ogive. From the curve, find median. Also check median by actual ¢ €
calculations. ww '
vy Y
L } N\'I\S‘%v\ @S X = 2Tt >
| ;ﬁq' LS e K * (&
\ o=TF V
' 2450 go\ R{M)o(}o- 52 -~y E i (©
, ¢ 6s =32 P
s Y 0 S > WS4
)/9 I 6 o ne
| et 7]
6 L :24 _ y/ 2L
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